eseulance.com

Leildes Oficiais

JBS - AMBIENTAL =~ JBS

LOTE cODIGO DESCRICAO DO ITEM UNIDADE QUANTIDADE
3 169521 ABRACADEIRA REG;226-236MM;LARG 32MM;AISI304 Pc. 7
3 144892 ABRACADEIRA TC;AISI304;3POL Pg. 4
3 172527 ABRACADEIRA TC;AISI304;6POL Pc. 7
3 155770 ARRUELA TRAVA ROLAMENTO;55MM;MB11 Pg. 1
3 155763 ARRUELA TRAVA ROLAMENTO;85MM;MB17 Pc. 6
3 59046 BUCHA FIX ROLAMENTO;EIXO 3 1/2POL;ROSCA M100X2X71MM;HE 320 Pg. 5
3 40342 BUCHA REDUCAO FERRO MALEAVEL;GALVANIZADO;3X2BSP Pc. 2
3 155398 BUJAO FERRO MALEAVEL;GALVANIZADO;1/4BSP Pg. 3
3 104562 CAIXA P/ROLAM;MONOBLOCO;FLG QUAD;FOFO;EIXO 2 1/4POL/60MM Pc. 2
3 42411 COTOVELO FERRO MALEAVEL; GALVANIZADO;45GR; FEMEA;3/4BSP Pg. 7
3 21531 COTOVELO FERRO MALEAVEL; GALVANIZADO;90 GR;FEMEA;1 1/2BSP Pc. 2
3 22339 COTOVELO FERRO MALEAVEL;GALVANIZADO;90 GR;FEMEA;1BSP Pg. 3
3 28977 COTOVELO FERRO MALEAVEL;GALVANIZADO;90 GR;FEMEA;3BSP Pc. 2
3 208606 EMENDA;RETA C/TRAVA;P/CORRENTE SIMPLES;5/16POL Pg. 4
3 54210 ESCOVA CIRCULAR;ONDULADA;ACO; 150X19MM; C/REDUCAO 13MM Pc. 9
3 21126 LUVA FERRO MALEAVEL;FEMEA;GAL;1BSP Pg. 15
3 155393 LUVA REDUCAO FERRO MALEAVEL;FEMEA;GAL;3X2 1/2BSP Pc. 1
3 34498 LUVA REDUCAO MALEAVEL;FEMEA;GAL;2X1POL Pg. 5
3 51654 MANCAL COM ROLAMENTO FRM -P 210/UC 209 Pc. 1
3 88943 MANCAL;FRM/UCT211-2 Pg. 2
3 69030 PARAF SEXT INOX M14X25 Pc. 103
3 62597 PARAF SEXT INOX M16X30 Pg. 88
3 125586 PARAFUSO ALLEN CAB CILIND;M16X2X50MM;SAE4135 GAL;RT Pc. 101
3 199046 PARAFUSO ALLEN CAB CILIND;M30X3,5X120MM;ACO LIGA 12.9;RP Pg. 3
3 22472 PARAFUSO ALLEN CAB CILIND;NC1/4X2POL;SAE4135 GAL;RT Pc. 22
3 154852 PARAFUSO ALLEN CAB CILIND;NC7/8X2POL;AISI304;RT Pg. 40
3 155930 PARAFUSO ALLEN S/CAB;M16X1,50X30MM;SAE4135 OLE;PONTA REC Pc. 202
3 155928 PARAFUSO ALLEN S/CAB;NC5/8X1POL;SAE4135 OLE;PONTA REC* Pg. 196
3 673913 PARAFUSO CAB REDONDA;UNC1/2POLX25MM;AISI 304;FND;RT Pc. 20
3 58310 PARAFUSO CAB SEXTAV;M14X2X70MM;AISI304;RP Pg. 48
3 155934 PARAFUSO CAB SEXTAV;NC3/4X2 1/2POL;AISI304;RT Pc. 40
3 22454 PARAFUSO CAB SEXTAV;NC3/8X1POL;AISI304;RT Pg. 235
3 94204 PARAFUSO CORREIA ELEV;NC5/16X1POL;SAE1020 PRE;CAB 28MM;C/P Pc. 30
3 33076 PORCA FIXACAO ROLAMENTO;ROSCA DIR;M55X2;KM11 Pg. 7
3 69839 RETENTOR 02068 BRGP - SABO Pc. 2
3 24727 RETENTOR SABO 00906-BR Pc. 4
3 64511 RETENTOR;110X140X12,5MM;NITRILICA;02832 BRG Pc. 2
3 155399 RETENTOR;118X145X14MM;NITRILICA;31181 Pg. 2
3 155396 RETENTOR;120X160X12MM;VITON;30536 Pc. 3
3 48042 RETENTOR;25X35X10MM;NITRILICA; SABO/00788 BAG Pg. 14
3 96759 RETENTOR;30X45X12MM;NITRILICA;SABO/00832 BR Pc. 3
3 43505 RETENTOR;44,50X68,20X15,90MM;NITRILICA; 01679 BRG Pg. 7
3 209995 RETENTOR;55X85X8MM; NITRILICA;44575 RR2 Pc. 4
3 155423 RETENTOR;58,7X80X11MM;NITRILICA;5680 Pg. 5
3 210592 RETENTOR;58X80X8MM;NBR;6550 RR Pc. 2
3 209989 RETENTOR;60X85X8MM;NITRILICA;42133 RR2 Pg. 2
3 154939 RETENTOR;68X100X10MM;NITRILICA;21868 Pc. 7
3 37039 RETENTOR;70X95X13MM;NITRILICA;01879 BRG Pg. 2
3 610417 RETENTOR;80X130X13MM;VITON;42602 RR Pc. 4
3 154966 RETENTOR;85X130X13MM;NITRILICA; 11775 Pg. 2
3 48679 RETENTOR;90X120X13MM;NITRILICA;00497 BR Pc. 6
3 29042 ROLAMENTO AUTOCOMP ESF;25X52X18MM;GAI POLIAM;2205 E TN9 Pg. 2
3 51827 ROLAMENTO AUTOCOMP ESF;55X120X43MM;GAI ACO;2311 K Pc. 4
3 125923 ROLAMENTO AUTOCOMP ESF;65X120X23MM; GAI POLIAMIDA;1213 ETNS Pg. 8
3 213856 ROLAMENTO AUTOCOMP ROL;RADIA;90X160X52,4MM;23218 CC/W33 C3 Pc. 2
3 209830 ROLAMENTO AUTOCOMP ROL;RADIAL;55X120X43MM;2311 C3 Pg. 4
3 20651 ROLAMENTO AUTOCOMP ROL;RADIAL;90X160X40MM;22218 CCK C3 Pc. 1
3 613840 ROLAMENTO AXIAL ESF;110x160x38MM;GAI ACO;51222 Pg. 3
3 21354 ROLAMENTO FIXACAO RAPIDA;50X100X24X55,55MM;UCR 211-500 Pc. 5
3 123778 ROLAMENTO FIXO ESF;70X125X24MM;GAI ACO;6214 2RS Pg. 2
3 87162 ROLAMENTO FIXO ESF;85X150X28MM;GAI ACO;6217 2RS1 C3 Pc. 2
3 33302 ROLAMENTO FIXO ESF;85X150X28MM;GAI ACO;6217 C3 Pg. 2
3 610412 ROLAMENTO ROL CIL;60X110X28MM; GAI POLIAM;NU 2212 C3 Pc. 2
3 611508 ROLAMENTO ROL CONI;60,325X130,175X36,512MM;HM911245W210QV001 Pg. 2
3 58881 ROLAMENTO ROL CONIC;40X68X19MM;32008 X/Q Pc. 1
3 20661 ROLAMENTO ROL CONIC;75X160X40MM;30315 12 Q Pc. 3
3 611258 ROLAMENTO ROLOS CO;61,912X146,05X41,275MM;H913843/810/QCL7C Pc. 2
3 156191 SELO MECANICO 21 BF 1C1 7/8" JOHN CRANE Pg. 5
3 47153 SELO MECANICO DE 1.1/4 TIPO 21 JOHN CRANE C/ANEIS Pc. 1
3 81558 UNIAO ACO CARB;ASTM A105;GALV;2 1/2POL SW;ASSENT CON BRONZE Pg. 2
3 101387 VEDADOR P/CAIXA MANCAL;TIPO G;FCM/TSNA 522 TG Pc. 4




